
Converting Between cm and m (A)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: × ÷ ² ³.

÷ ×gi
ga

G
9 8 7

m
eg
a

M
6 5 4

ki
lo

k
3

he
ct
o

h
2

de
ca

da
1 0

de
ci

d
-1

ce
nt
i

c
-2

m
ill
i

m
-3 -4 -5

m
ic
ro

µ
-6 -7 -8

na
no

n
-9

Base

1. Convert 4,29m to cm

2. Convert 0,1772m to cm

3. Convert 7911m to cm

4. Convert 860 cm to m

5. Convert 76,96m to cm

6. Convert 45.430.000 cm to m

7. Convert 502 cm to m

8. Convert 912m to cm

9. Convert 871.100 cm to m

10. Convert 90.650.000 cm to m
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Converting Between cm and m (A) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: × ÷ ² ³.

÷ ×gi
ga

G
9 8 7

m
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a

M
6 5 4

ki
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k
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h
2
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1 0
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m
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m
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µ
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na
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n
-9

Base

1. Convert 4,29m to cm
4,29m × 10 × 10 = 429 cm

2. Convert 0,1772m to cm
0,1772m × 10 × 10 = 17,72 cm

3. Convert 7911m to cm
7911m × 10 × 10 = 791.100 cm

4. Convert 860 cm to m
860 cm ÷ 10 ÷ 10 = 8,6m

5. Convert 76,96m to cm
76,96m × 10 × 10 = 7696 cm

6. Convert 45.430.000 cm to m
45.430.000 cm ÷ 10 ÷ 10 = 454.300m

7. Convert 502 cm to m
502 cm ÷ 10 ÷ 10 = 5,02m

8. Convert 912m to cm
912m × 10 × 10 = 91.200 cm

9. Convert 871.100 cm to m
871.100 cm ÷ 10 ÷ 10 = 8711m

10. Convert 90.650.000 cm to m
90.650.000 cm ÷ 10 ÷ 10 = 906.500m
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Converting Between cm and m (B)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: × ÷ ² ³.

÷ ×gi
ga

G
9 8 7

m
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M
6 5 4
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k
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m
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µ
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n
-9

Base

1. Convert 943,4m to cm

2. Convert 1,361m to cm

3. Convert 0,7544m to cm

4. Convert 9520 cm to m

5. Convert 5,152m to cm

6. Convert 340 cm to m

7. Convert 27.000 cm to m

8. Convert 519.000 cm to m

9. Convert 69 cm to m

10. Convert 0,666m to cm
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Converting Between cm and m (B) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: × ÷ ² ³.

÷ ×gi
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G
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m
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M
6 5 4
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1 0
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m
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µ
-6 -7 -8
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n
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Base

1. Convert 943,4m to cm
943,4m × 10 × 10 = 94.340 cm

2. Convert 1,361m to cm
1,361m × 10 × 10 = 136,1 cm

3. Convert 0,7544m to cm
0,7544m × 10 × 10 = 75,44 cm

4. Convert 9520 cm to m
9520 cm ÷ 10 ÷ 10 = 95,2m

5. Convert 5,152m to cm
5,152m × 10 × 10 = 515,2 cm

6. Convert 340 cm to m
340 cm ÷ 10 ÷ 10 = 3,4m

7. Convert 27.000 cm to m
27.000 cm ÷ 10 ÷ 10 = 270m

8. Convert 519.000 cm to m
519.000 cm ÷ 10 ÷ 10 = 5190m

9. Convert 69 cm to m
69 cm ÷ 10 ÷ 10 = 0,69m

10. Convert 0,666m to cm
0,666m × 10 × 10 = 66,6 cm
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Converting Between cm and m (C)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: × ÷ ² ³.

÷ ×gi
ga

G
9 8 7

m
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M
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ro

µ
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no

n
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Base

1. Convert 9390 cm to m

2. Convert 3962m to cm

3. Convert 427m to cm

4. Convert 2,772m to cm

5. Convert 4680 cm to m

6. Convert 28,9m to cm

7. Convert 7550 cm to m

8. Convert 76m to cm

9. Convert 84.020.000 cm to m

10. Convert 598.900 cm to m
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Converting Between cm and m (C) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: × ÷ ² ³.

÷ ×gi
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µ
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n
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Base

1. Convert 9390 cm to m
9390 cm ÷ 10 ÷ 10 = 93,9m

2. Convert 3962m to cm
3962m × 10 × 10 = 396.200 cm

3. Convert 427m to cm
427m × 10 × 10 = 42.700 cm

4. Convert 2,772m to cm
2,772m × 10 × 10 = 277,2 cm

5. Convert 4680 cm to m
4680 cm ÷ 10 ÷ 10 = 46,8m

6. Convert 28,9m to cm
28,9m × 10 × 10 = 2890 cm

7. Convert 7550 cm to m
7550 cm ÷ 10 ÷ 10 = 75,5m

8. Convert 76m to cm
76m × 10 × 10 = 7600 cm

9. Convert 84.020.000 cm to m
84.020.000 cm ÷ 10 ÷ 10 = 840.200m

10. Convert 598.900 cm to m
598.900 cm ÷ 10 ÷ 10 = 5989m

Math-Drills.com



Converting Between cm and m (D)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: × ÷ ² ³.

÷ ×gi
ga

G
9 8 7

m
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M
6 5 4
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n
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Base

1. Convert 0,8756m to cm

2. Convert 5.240.000 cm to m

3. Convert 0,017m to cm

4. Convert 0,34m to cm

5. Convert 164.000 cm to m

6. Convert 0,0098m to cm

7. Convert 430.000 cm to m

8. Convert 0,17m to cm

9. Convert 494.900 cm to m

10. Convert 11.000 cm to m
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Converting Between cm and m (D) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: × ÷ ² ³.

÷ ×gi
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µ
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n
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Base

1. Convert 0,8756m to cm
0,8756m × 10 × 10 = 87,56 cm

2. Convert 5.240.000 cm to m
5.240.000 cm ÷ 10 ÷ 10 = 52.400m

3. Convert 0,017m to cm
0,017m × 10 × 10 = 1,7 cm

4. Convert 0,34m to cm
0,34m × 10 × 10 = 34 cm

5. Convert 164.000 cm to m
164.000 cm ÷ 10 ÷ 10 = 1640m

6. Convert 0,0098m to cm
0,0098m × 10 × 10 = 0,98 cm

7. Convert 430.000 cm to m
430.000 cm ÷ 10 ÷ 10 = 4300m

8. Convert 0,17m to cm
0,17m × 10 × 10 = 17 cm

9. Convert 494.900 cm to m
494.900 cm ÷ 10 ÷ 10 = 4949m

10. Convert 11.000 cm to m
11.000 cm ÷ 10 ÷ 10 = 110m
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Converting Between cm and m (E)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: × ÷ ² ³.

÷ ×gi
ga

G
9 8 7

m
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M
6 5 4
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k
3
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m
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µ
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n
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Base

1. Convert 8970 cm to m

2. Convert 76m to cm

3. Convert 7843m to cm

4. Convert 43,93m to cm

5. Convert 118.100 cm to m

6. Convert 0,0979m to cm

7. Convert 4.280.000 cm to m

8. Convert 96,16m to cm

9. Convert 462.000 cm to m

10. Convert 37.000 cm to m
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Converting Between cm and m (E) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: × ÷ ² ³.

÷ ×gi
ga

G
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m
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M
6 5 4
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k
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1 0
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m
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µ
-6 -7 -8
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n
-9

Base

1. Convert 8970 cm to m
8970 cm ÷ 10 ÷ 10 = 89,7m

2. Convert 76m to cm
76m × 10 × 10 = 7600 cm

3. Convert 7843m to cm
7843m × 10 × 10 = 784.300 cm

4. Convert 43,93m to cm
43,93m × 10 × 10 = 4393 cm

5. Convert 118.100 cm to m
118.100 cm ÷ 10 ÷ 10 = 1181m

6. Convert 0,0979m to cm
0,0979m × 10 × 10 = 9,79 cm

7. Convert 4.280.000 cm to m
4.280.000 cm ÷ 10 ÷ 10 = 42.800m

8. Convert 96,16m to cm
96,16m × 10 × 10 = 9616 cm

9. Convert 462.000 cm to m
462.000 cm ÷ 10 ÷ 10 = 4620m

10. Convert 37.000 cm to m
37.000 cm ÷ 10 ÷ 10 = 370m
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Converting Between cm and m (F)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: × ÷ ² ³.

÷ ×gi
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G
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m
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M
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µ
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n
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Base

1. Convert 359m to cm

2. Convert 49,6m to cm

3. Convert 896 cm to m

4. Convert 0,0059m to cm

5. Convert 9.620.000 cm to m

6. Convert 76m to cm

7. Convert 26.600 cm to m

8. Convert 2870 cm to m

9. Convert 5,27m to cm

10. Convert 48.120.000 cm to m
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Converting Between cm and m (F) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: × ÷ ² ³.

÷ ×gi
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m
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M
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m
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µ
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n
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Base

1. Convert 359m to cm
359m × 10 × 10 = 35.900 cm

2. Convert 49,6m to cm
49,6m × 10 × 10 = 4960 cm

3. Convert 896 cm to m
896 cm ÷ 10 ÷ 10 = 8,96m

4. Convert 0,0059m to cm
0,0059m × 10 × 10 = 0,59 cm

5. Convert 9.620.000 cm to m
9.620.000 cm ÷ 10 ÷ 10 = 96.200m

6. Convert 76m to cm
76m × 10 × 10 = 7600 cm

7. Convert 26.600 cm to m
26.600 cm ÷ 10 ÷ 10 = 266m

8. Convert 2870 cm to m
2870 cm ÷ 10 ÷ 10 = 28,7m

9. Convert 5,27m to cm
5,27m × 10 × 10 = 527 cm

10. Convert 48.120.000 cm to m
48.120.000 cm ÷ 10 ÷ 10 = 481.200m
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Converting Between cm and m (G)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: × ÷ ² ³.

÷ ×gi
ga

G
9 8 7

m
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M
6 5 4
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m
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µ
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n
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Base

1. Convert 812.000 cm to m

2. Convert 2,26m to cm

3. Convert 85.280 cm to m

4. Convert 0,7147m to cm

5. Convert 0,1713m to cm

6. Convert 18.040 cm to m

7. Convert 0,0633m to cm

8. Convert 750.000 cm to m

9. Convert 8,4m to cm

10. Convert 3.224.000 cm to m
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Converting Between cm and m (G) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: × ÷ ² ³.

÷ ×gi
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G
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m
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M
6 5 4
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m
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µ
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n
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Base

1. Convert 812.000 cm to m
812.000 cm ÷ 10 ÷ 10 = 8120m

2. Convert 2,26m to cm
2,26m × 10 × 10 = 226 cm

3. Convert 85.280 cm to m
85.280 cm ÷ 10 ÷ 10 = 852,8m

4. Convert 0,7147m to cm
0,7147m × 10 × 10 = 71,47 cm

5. Convert 0,1713m to cm
0,1713m × 10 × 10 = 17,13 cm

6. Convert 18.040 cm to m
18.040 cm ÷ 10 ÷ 10 = 180,4m

7. Convert 0,0633m to cm
0,0633m × 10 × 10 = 6,33 cm

8. Convert 750.000 cm to m
750.000 cm ÷ 10 ÷ 10 = 7500m

9. Convert 8,4m to cm
8,4m × 10 × 10 = 840 cm

10. Convert 3.224.000 cm to m
3.224.000 cm ÷ 10 ÷ 10 = 32.240m
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Converting Between cm and m (H)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: × ÷ ² ³.

÷ ×gi
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G
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m
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a

M
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m
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µ
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n
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Base

1. Convert 0,814m to cm

2. Convert 79.000 cm to m

3. Convert 0,57m to cm

4. Convert 2.353.000 cm to m

5. Convert 653,5m to cm

6. Convert 7130 cm to m

7. Convert 3512m to cm

8. Convert 0,099m to cm

9. Convert 25.510 cm to m

10. Convert 75.360 cm to m
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Converting Between cm and m (H) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: × ÷ ² ³.

÷ ×gi
ga
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m
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µ
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n
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Base

1. Convert 0,814m to cm
0,814m × 10 × 10 = 81,4 cm

2. Convert 79.000 cm to m
79.000 cm ÷ 10 ÷ 10 = 790m

3. Convert 0,57m to cm
0,57m × 10 × 10 = 57 cm

4. Convert 2.353.000 cm to m
2.353.000 cm ÷ 10 ÷ 10 = 23.530m

5. Convert 653,5m to cm
653,5m × 10 × 10 = 65.350 cm

6. Convert 7130 cm to m
7130 cm ÷ 10 ÷ 10 = 71,3m

7. Convert 3512m to cm
3512m × 10 × 10 = 351.200 cm

8. Convert 0,099m to cm
0,099m × 10 × 10 = 9,9 cm

9. Convert 25.510 cm to m
25.510 cm ÷ 10 ÷ 10 = 255,1m

10. Convert 75.360 cm to m
75.360 cm ÷ 10 ÷ 10 = 753,6m
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Converting Between cm and m (I)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: × ÷ ² ³.

÷ ×gi
ga

G
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m
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M
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m
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µ
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n
-9

Base

1. Convert 43.500 cm to m

2. Convert 170.000 cm to m

3. Convert 34.000 cm to m

4. Convert 0,024m to cm

5. Convert 7,913m to cm

6. Convert 635.000 cm to m

7. Convert 0,0204m to cm

8. Convert 25m to cm

9. Convert 0,0068m to cm

10. Convert 993.400 cm to m
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Converting Between cm and m (I) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: × ÷ ² ³.

÷ ×gi
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m
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µ
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n
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Base

1. Convert 43.500 cm to m
43.500 cm ÷ 10 ÷ 10 = 435m

2. Convert 170.000 cm to m
170.000 cm ÷ 10 ÷ 10 = 1700m

3. Convert 34.000 cm to m
34.000 cm ÷ 10 ÷ 10 = 340m

4. Convert 0,024m to cm
0,024m × 10 × 10 = 2,4 cm

5. Convert 7,913m to cm
7,913m × 10 × 10 = 791,3 cm

6. Convert 635.000 cm to m
635.000 cm ÷ 10 ÷ 10 = 6350m

7. Convert 0,0204m to cm
0,0204m × 10 × 10 = 2,04 cm

8. Convert 25m to cm
25m × 10 × 10 = 2500 cm

9. Convert 0,0068m to cm
0,0068m × 10 × 10 = 0,68 cm

10. Convert 993.400 cm to m
993.400 cm ÷ 10 ÷ 10 = 9934m
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Converting Between cm and m (J)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: × ÷ ² ³.

÷ ×gi
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9 8 7

m
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M
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µ
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n
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Base

1. Convert 314.700 cm to m

2. Convert 6,996m to cm

3. Convert 111,8m to cm

4. Convert 8.070.000 cm to m

5. Convert 0,085m to cm

6. Convert 22,53m to cm

7. Convert 0,0357m to cm

8. Convert 890 cm to m

9. Convert 6800 cm to m

10. Convert 820.100 cm to m
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Converting Between cm and m (J) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: × ÷ ² ³.

÷ ×gi
ga

G
9 8 7

m
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a

M
6 5 4

ki
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k
3
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o

h
2
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1 0

de
ci
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c
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m
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m
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m
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ro

µ
-6 -7 -8

na
no

n
-9

Base

1. Convert 314.700 cm to m
314.700 cm ÷ 10 ÷ 10 = 3147m

2. Convert 6,996m to cm
6,996m × 10 × 10 = 699,6 cm

3. Convert 111,8m to cm
111,8m × 10 × 10 = 11.180 cm

4. Convert 8.070.000 cm to m
8.070.000 cm ÷ 10 ÷ 10 = 80.700m

5. Convert 0,085m to cm
0,085m × 10 × 10 = 8,5 cm

6. Convert 22,53m to cm
22,53m × 10 × 10 = 2253 cm

7. Convert 0,0357m to cm
0,0357m × 10 × 10 = 3,57 cm

8. Convert 890 cm to m
890 cm ÷ 10 ÷ 10 = 8,9m

9. Convert 6800 cm to m
6800 cm ÷ 10 ÷ 10 = 68m

10. Convert 820.100 cm to m
820.100 cm ÷ 10 ÷ 10 = 8201m
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